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DEPARTMENTAL EXAMINATIONS
SURVEY DEPARTMENTAL TEST - DRAUGHTSMAN TEST - PAPER -1 ~
| (Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qasrer@M euens ellanTss mer

Read the following instructions carefully before beginning to answer the questions.

eflen& s (EndE eflenWalléss Csm_m@h uper SDEGETL 2iHle|erHener SeUeDTd Lig&&He, L.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
@6s dleymissedler e urelanflenr aurienssatien, @a&Canu Caameuliuigen GlLsmm
umedlesflern eumTHenGa(EHLD 3L rhl@LD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
@ps leamsdarellamear sansrafiuureriler <igndl CupeusHE eTanT SpassmLTg.
saarenfllurert ellenmg@amgllenar SolusnE Siawd safigsea e elamgbsr@gllaear Hpbs
edlerLweflEs Qgrimisomd.

1.  This question booklet contains 100 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 _minutes after which no request will be entertained.

@eucllamggmear 100 Gsmergdl cums Samssamear Waram g. olaremiugnriser il waflss
QAsm_ru@lb ape, ellenmgsrafler ereverr eflenméa@sid G ib AupmeTarareur eranamgu|bd, Geb S
ussmser / elamsser oFHLluLmod NHUL(heTeTareur erarUamgu|d FfUTTESHE Clsmererayb.
famssreaila gGsaibd Gan @miniear alamssraer’s Gunn Gar LSgk Bl REER&E@GT
samsrastiuureriiib Gsfeilss Cauar®bn. 2shE Wng Csflelsdsiiu@n Carflsmasdr ggib ghns

@amarer i om’ L mg).

2.  Answers all questions. All questions carry equal marks.

2Nmeansg eflamssEns@n e walss Cousr(Bib. Simadg eleambs@pd #owmer &l blLemaeT
Gl meiTL_eneu.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

eilarariugryiler udCeuamemean @aedamssrailer God g LEEEH0 <igHAsaT GaGEILIL Herer
QL g8l erps Couant(Hib. ellenmggraficr Geum ereanSwyid eSS Fal Mg,

The sheet before the last page of the question booklet shall be used for any rough work.
ellemmggraflen se8l LsssENE wer LEssHD rough work erqpdl Lnrés 2 LCWTHSHE Qsrdrarayb.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) geauleanm efamein@n (A), B), (C), (D) erer mreng oflevLser Qar@&ssuul(Hererg).
eflamamiugmit Seuphler gCaaubd e sflumar el mws Coitay Gawiw Cauam(Hb. Qeammés
Gupul L sflwurer efleLsar g alamalbE Qmiusrs smdamd, auplod caelamL Wass
sflwurang erar smg1fldirsCerr, oeuelenemw Blpal’ B smL GouaTHLb.

(b) ercuaumdlBLi9auid, e eﬁ]mneﬂg‘)@ 82067 @m eloLamwug grar CorbAsHés Ceuam(HLb.

© em sﬁ]mrréﬁl;j;@ gamsE Gupull el msaled ofewelssiiulgphsrd el
geuprengns smasLul (), seusllammeilne wHu@uear euphs’uL I LTE).

(d OMR ofleng srafled ghssuuiL sfwurar clesmer Qurmss, Qorss wHOHQUE@TSET
euprisLILBD (@ elamaiing e eul L gdled (G ) Blpell L efenL ol GG w6
QULDHIG SETESlE 6T (HSHIH CaTererlLHib).

Do not mark the answers in the Question Booklet.

eflemmgsnafle ellen_smaers GMUALSE saL_rg).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

afl@manriiuignyi, efamgsreflen ehe @ UsssmFLD, BisCaur dwg HPssCaur amirg. Csiey
pa_dugd Curg), elamggreer Caira) ami_smgseil’ ( QauaiCu a@ss Qsde giwd HaLwng.
Gairey Wiy bg WeanrarCy eflemggrener eTR&s1E Qeder ey ssiu{Heur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Copsar.  sifleyamrsafier gCGpaud Eptiu@Cowranmd Csrammearud TRSGD s _mear /
BLeuig&enadE 2 ererma Crfl (.

In case of doubt, English version is the final.
eflaméaatiar abCaesmLiden, gyhidla aigelldh Aar@ssuul Herer efamésGar @nidlurens.
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2.

3.

4.

5.

¥

WL 0N

Shortest distance between two points is called as

Slanting line (B)
Straight line (D)
@i Lerefls@néE @en LUl L 10ls Gaphs STD
A)  smue Gam(® B)
(C) CmrCar(® (D)

Base line is called as ] _
Base line (B)

(C)  Vertical line D)
STl 1oms @)(HLLS] ereuBib.

A)  upsews Csr( B)
(C) smisey Car® (D)

Shortest bend shown than straight angle is

Parallel line
Outline

eraru(Hi.
@ement G
Qeuafls Gam(h

Slanting line
Straight line

smia| Caml
Crir Cam(

AA) Acute angle - (B) Obtuse angle
(C) Oblique angle (D) Full angle
CorCasramgangeil @apaie 2jamelle) euanarhbdl (e @i,
&) . enaCsreambd (B) &AINCasmremrd
(C)  smLGsmenrd D)  pwsGsareamid
12 Inches
(A) 1 Mile (B) 1sq.ft.
AC} 1 feet : (D) 1 Acre
12 Qe
(A) s e . B)  @®ssy 2y
©) amg D) awasst
3 (three) feet 1s called as
AR 1Yard B) 1 feet
(C) 1lnk (D) 1Mile
3 g ereLIg)
A)  lwri@ B) leog
©) 1erev D) 1ewe
3
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6. The difference between actual area and new area has to be adjusted to rateable are during |
maintenance :
@) 6% B) 8% L
(C) 10% AD) 5% |
ugrofliGer Gurg = arewwrar efavgyand, U eldvSramsdnen o drer Gy ——— |
aflevSrantid eysfésiiuL Cauamm@ib.
A 6% B) 8%

(O 10% D) 5%

1. Formula to find out area of triangle is

(A) Length X Breadth (B) Side x Side
& C) % X breadth x height (D) % X length % breadth x height

p&ECaramsSn@E LT ssrar @S rb
(A) . Bemb x Sged (B) U&SD X USHLD
(C) % x sseb x e wpb D) %% xBemb x ysed X 2 wWyD

8. Total Triangle is
@) 90 ' B) 360°
(©) 300° wAD) 180°
wp&Canansdlen Qirss Csmemrd
A 90’ ' (B) 360°
(C) 300° (D) 180°

o : When straight line drawn in base line results angle.
(A)  Obtuse angle (B) Acute angle
A (C)  Straight angle (D) Equilateral angle

@M URsms Gamige Wem@Gss Cam® euamnpbsme o am_n@h Gararbd
(A) AfCaTenTD B) ©GyrCsreammDd
(C) Cmir Camamrd (D)  swuss psCarenmd

10. Survey error is called as
(A) Measurement error (B) Mathematical error
(C)  Error in field inspection WA (D) Areaerror
Bleo Syareneut’s Ganipadr eran &mSLILIEGIS
A)  =ereyuGent (B) serflg nlenip
) Yavggailsens enip (D)  elevSyamrindenip
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12.

13.

14.

Sun is in North side available season is
)  From January 1 to June 30

(Q) From April 21 to September 20

(C) From September 21 to March 20

«AD) From March 21 to September 20

Gilwer eul&@ Slansuild sepsllsEb s eremig)
(A) garaufl 1 gz ger 30 auey

(B) gureé 21 apge CQetibui 20 eusny

(C) Qsabur 21 apge wrird 20 aueny

D) e 2l apgd Aeirbuir 20 euanry

Explain about the limitation of over in close block during Town Survey
(A) 64 Hectare : wA(B) 4 Hectare
(C) 40 Hectare (D) 6 Hectare

&y Sereneuuie Gnmasorer u@gsdlew (Closed Block) eréucuerey Liplidle sneuds Gouamr(Hibd
A) 64 GQansGir B) 4 QansCLr

(C) 40 QapsGLi (D) 6QapsGLi

System Formation of field in Tamilnadu survey and land records department at present is
(A)  Block map system (B) Plantable systém

(C)  Simple triangle system V(D) Diagonal and offset system
SUOIDHT 196 SHFLWLD FTGa L{BISGET &S ILEHLD (pepm

(A)  Qemrg Gl wpenp B) WCerarrGLGler apenm

(C)  srsmyew Qpé;(?aarrém‘r e D) ppareeil L p&Cament wWpenp

One Kilo metre

wA(A) 1000 Metre (B) 1500 Metre
(C) 10,000 Metre (D) 100 Metre
@ HCeor BLL T erarLig)
A) 1000 B (B) 15008
(C) 10,000 b D) 1008
5 : 084/DM/19
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15. - Village map is drawn in the scale by

(A)  1:1000 m.m. ; (B) 1:500 m.m.
() 1:10,000 m.m. vAD) 1:5000 m.m. L
@@ Fymo euanyuL D euaTuULU{HLD Sierey :
(A)  1:1000 .15 (B) 1:500 A..5.
(C)  1:10,000 wf1.15. ' (D) 1:5000 1A.15.
16.  Length of computing scale utilized in survey field is

(A) 180 cm (B) 25¢cm

AL  50cm (D) 30cm
fleo sjererauggieamnuia uriy saflés LwaLPSSIUGHD s g r 6uGsaw (Computing Scale)-en
Bemb ' '
(A) 180 Qs.b. (B) 25 Qsg.8.
(C) 50 @s.8. ' (D) 30 Qs.1b.

17. Section available in TN State Board Act 1923 are

A 32 B) 22

(C) 28 viD) 27

SODHBETH Hlo teranau radeasaT &1L b 1923 @yib peiTiqd 61 L5516 2_eirar 19 eyser
A 32 (B) 22

(C) 28 D) 27

18.  Details in 10 metres breadth, 200 metre length available field in called as

(A)  Ordinary field (B) Short circuit field

(C)  Major circuit field oA(D) Long narrow field

10 Bleim sseapd, 200 BSC i herapd Qanerr eflenédlaer Sjemwpbgerer Lol ‘ig;&;dm_e;.lrrgj
SiapaslILBEns) '

(A)  smgmrent Yeuld (B) SmsHm yeod

©) Qu@mEssnm Leld (D) B @mdw Leowb

19.  Total Length of one chain is calculated as follows

(A) 170 feet . (B) 100 feet

(C) 50 feet o (D) 66 feet

@@ erdlalllen Awrss Homb Epasin_eumm iguled sarsdLuBdpg)

(A)  T0=yg (B) 100 =g

(€) 50 <@g : (D) 66 9y
084/DM/19 6
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20.

Assigning of su'rvey field during Village Survey System is called as
)  From South East to North West

J(B) From North West to South East

(C)  From North East to South West
(D) From South West to North West

gy fle sjerencuulien Curg) L@ erarseT GaTHSEGD e
(A) Osadlipadambg Qamirifl eu_Cone epme (pigL
B) e Cope apameute Qg CsadlpsE pana iy
©)  aLdlpse epmauies Qg _md saGpe weae (g
D) GG apenauien Asm_méd e GoHe (ee g

21. One Square mile is
(A) 100 acres V\(B) 640 acres
(C) 1000 acres (D) 240 acres
(T E5IT LG GTETLIG)
(A) 100 gési B) 640 gasi
(C) 1000 g&&r (D) 240 g&si
22.  Formula to work out the outline measurement of rectangle
w¥A) 2 (length X breadth) (B) 4 x sides
©C) (a+b+c) (D) Breadth x height
DecueussSlan sHnaTa HTeRT GHHSD
(A) 2 (Bembd X seid) (B) 4xussb
(C) (a+b+e D) oseb X 2 wjd
23.  Number which multiply into same number results amount of

A)  Square : (B) Square root

(C) Total amount (D) Minimum amount
eravrenent 3G erarannmed GLHEE euHD Dgmens

(A) eumssbd B) erssapad

C) &l (pslsrens D) sWPsze Csrans

084/DM/19
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24.  Each angle of equilateral angle is

wvA@ 60 B) 90°
(©) 360° (D) 270° %
s0UES WSCaragHle geueurm Caremrid
(A) 60 (B) 90°
(C) 360 (D) 270°

25. Details of 1%t page printed in A Register is called as

wA(A) Descriptive - (B) About field numbers
(C) Pattadarar name (D) Classification
‘" LEGULIg & ———————— e LdssHD GHLILEH LHWLUL K MEELD.
A)  augerpm GHLy B) ye erawrser efugbd
©) ulirgmyt Quwr (D)  eumsiunpser

26. Describe about the period of commencement year and completion year of UDR scheme

vV (@A) 1979 to 1987 (B) 1981 to 1990
(C) 1980 to 1988 (D) 1984 to 1985
Bl 2 Lenio Lfla) Gobur @ UL aps & < rbidssiiul () abs oL@ wigey Qubpg)
(A) 1979 to 1987 . (B) 1981 to 1990
(C) 1980 to 1988 (D) 1984 to 1985

27. S of a triangle is called as half of a total amount of sides.

A 4 VA®B) 3
€ 5 D) 2
@@, psGaragslad S erang —————— ussnisaflen e HS0sT@sulad LTE.
@A 4 B) 3
@< 5 D) 2

28.  Side of the sun available during September 21 to March 20 in

(A)  North (B) East
WA (C) South (D) West
Qe burr 21 apged g 20 eueny @ flue @meEh dans
A)  eaLsE B) s
€) dspe D) Cupe
084/DM/19 8
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29.  The cases register in the Taluk no. 6 is called
) Land assignment cases

V\@) Transfer cases of rights
(C) Transfer cases of register
(D)  Transfer cases of classification
aul Lsaawé eram 6-1b ufHCaulig 6 Ldle| CaluiiBib @evmaiser
(A fle gl Qermhisar | |
(B) ofeow wrmmb Qeiiub Geahiser

(©)  udle) wrHm @emise
(D) euwsur® wrHD GleThI&ET

30. Describe the year of implementation of S & B Act

(A) 1925 WA (B) 1923
() 1928 (D) 1940
SOIPBHTH Hle yeTaneud FLL b SAAPOURSSILILL 6T ([)

(A) 1925 (B) 1923
(© 1928 (D) 1940

31.  Explain about the Darkas entries are made in which register in taluk office

WA (A) TKNo. 4 Register , (B) TK No. 5 Register
(C) TK No. 6(1) Register (D) TK No. 8A Register
FTQIHT Si@leuassslo sisrevg LHGu®H aar apsliufCau® @bt Liu@dpg
A TK eramr 4 ugGau(p B) TK ereir 5 ufGeu®
(C)  TK erewr 6(1) udGeu(n (D) TK erar 8A LfHCau(®
32.  Note the name of register in which the patta transfer application registered received from
Register Office
wA(A) T.M. 6(1) Register (B) T.N. 15 Register
(C) T.K. 4 Register (D) Register No. 7
sUifledevsit S ssHe HHa amb L LT LIS waydsman LBujb uHGe®
A)  TM. erawr 6(1) uglGau®d (B) T.N. 15 uglCGeu(®
C) T.K ear4 udGa D) vHCeul erawr 7
9 084/DM/19

[Turn over

https://www.freshersnow.com/previous-year-question-papers/



33.  Explain about the name of the register in which Taram, Assessment, wet, dry, porambokku
in taluk office

1 (4)  Register No. 7 (B) T.K.8A Register ®
(C)  6(2) Register (D) T.M. 6(1) Register
s, Siea, pEhens, Lesens, LpbEumsE @amausmer Capelsons wrpul Lrd ufe; Qadiub
udCeu(®
A) uHCeu(® eretmr 7 B) T.K. aer 8A udlCaum
(€) 62)udCaul (D) T.M. erair 6(1) uglGeu(®

34. Which grid system is currently used in Tamil Nadu?

A)  WGS 80 ' (B) WGS 66
wA©  WGS 84 _ (D) WGS 72
eibg grid system snGumg slppmiped uweatu®EsLuBEDng ?
A  WGS 80 (B) WGS 66
(C) WGS 84 (D) WGS 72

35.  Which of the following is the oldest legal tittle map in Tamil Nadu?
(A) A sheet (B) B Sheet
o\ (C)  Cadastral-survey sheet (D) D.D. Sheet
SOIHBM Ige MarupDULRHD UMPW euemFUL LD 678 ?
(A) - A sheet (B) B Sheet
(C)  Cadastral-survey sheet (D) D.D. Sheet

36.  Explain about the section in which the orders to survey of lands involved
WA) Section 4 (B) Section 5
(C) Section 7 (D) Section 9(2) -

@ Gl Seng siGe dewugharar sidamyb uafdsrab efeuyhsmens samib Gifley

A)  Gflay4 B) 9fley5
(C)  QGfley T D) Afley 9(2)
084/DM/19 10
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37. Please explain the section in which after issué orders of the govt to appoint survey officer
under section 5, name the section publish the section at village level.

“& " Section 6 (B) Section 5
(C)  Section 8(2) (D) Section 10(1)
#Geu gL Lib 5—ar Ly Hundastul L &iGau sifsrfl Grspd Qals efanbursms dymod sraguie
Uiy Gy ppeoid 1 yerid Qeliujb Gifley?
(A)  9fle 6 (B) dileybd
(C) YGfey 8(2) ' (D) QGfley 10(1)

38.  Describe about the preparation of the periodical report regarding stones stock profit & loss
account once with a time limit of the months

(A) 5 months (B) 3 months
wA(C) 6 months (D) 2 months
56 @muy efugh (profit & loss account) sre wpap Sifléms cTbgamen WISRISEEEE @O (PDD
gwmilées Geuem(Hib '
(A)  5wmrgd (B) 3uwmzb
(C) 6w D) 2wrgd

39.  Explain about the accounts regarding renewal work of missing stone

v (@A)  CSM®) g (B) CSM(B)
(C) O.CB. ' (D) RRAct
sremmiod GuTer shsemar LigL196@0h ueall&Ests Lurmof&EsUU{ID Semés
@Ay | Aeroentila) B) Asev.erd ()
O 8.4 (D) <yir.yiags

40.  Explain about the time limit to renew the missing stones after issue of 15(2) notice during
maintenance survey

(A) 20 (B) 30
w© 15 (D) 18
ugmofluy flo eetemer 15(2) Cprieey Osrhiss adsman SHamsEhEEGH EHGET L& a&s i
Ceuar(Hid
Aa) 20 (B) 30
© 15 (D) 18
11 084/DM/19
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41. Name the axis distance (co-ordinates) is'called as
(A)  Straight lines (B) Traversal lines
(C)  Inclination lines V‘(D) Straight lines, Inclination lines

2\&& gnymser (co-ordinates) erarug)

(A)  Coir Car@aer B) s Car@aer
(©) eruCesrser (D) CorGar@, smiGan()

42.  Explain error limit to 100 meters during the survey
(A) 0.6 metre VwiIB) 1.0 metre
(C) 0.9 metre (D) 2.0 metre

Hle siareneuudien Gumg) Genpauriby 100 B L @ ereucuarey Qmas CougirBib

A) 0.6 Bl (B) 1.0 0w
(©) 0.9 8L (D) 208 i
43.  Explain the squ.are metre to a cent is
(A) 420 sq.m. (B) 526 sq.m.
(C) 1000 sq.m. WwAD) 40.47 sq.m.
@ deaHaEfw ggy BLr
(A) 420 sgir B (B) 526 sgy Sl
(C) 1000 sgyy Siir : (D) 40.47 sgyy B i

44.  Explain about the cases incorporated in the acco.unt no. 8A Register
(A) Land assignment cases not involving subdivisions
(B)  Change classification cases not involving subdivisions
(C) Transfer register cases not involving subdivisions

v\ (D) All cases involving subdivisions

QUL Gganrd eretm 8A LEGeu g ey QeuwILEL Geartiser
@A) o gluua 2 " 19Ney Qdwrs Geakiser
(B)  dleeflew wrop 2 1 190ey Gowns Qamiger
(C)  udeywrpp 21 Gfley Qdens Gamisdr

D)  wengg) eumswnar o 19fey Germisadr
084/DM/19 12
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45. Nafne the figure which is having more than 4 sides

VW\) Polygon (B) Rectangle
(C) Square (D) Parallelogram
BITev(S LissnisEneE G daram o (meudslh@ ————— erenm U,
(A)  ueCarent 2 (Heud (B) @scdieusid
(C) sgmb D) @eeawsrd

46.  One Narotical mile is
YA 1.85 Km (B) 2000 Km
(€)  1.50 Km (D) 1000 Km

é@ FL_G) GOLDED GTETLIG)
(A)  1.85 .8 (B) 2000 4.8
(C) 150 4.5 (D) 1000 &..5

47.  Explain the Azimuth nearest numbering taken between the station during Traverse survey
WA (@A) 40 (or) 50 (B) 100 (or) 110
(C) 70 (or) 80 ' (D) 10 (or) 25

gpreuiey vaflllen Gurg eassomen  HlepawnksEssE @enuier @fw Gamewrd (Azimuth)

rhEsiu(HSng
(A) 40 =evangy 50 (B) 100 =eveg 110
(C) 70 sjevevg 80 (D) 10 =ebavg 25

48. 10,000 sq.m. is

w¥%4) 1Hectare (B) 1 Ares
(C) 4.5 Ares (D) 80 Ares
10,000 sgimBL_Lit ereimLis _
(A) 1GensGLi B) 1gev
(C) 4.5 giav (D) 80 grenv
13 084/DM/19
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49. Formula to find out area of circle

A& 2z _ (B) Lbh | ®
wA©O) 7™ (D) Lb(hl+h2)

aul_Lgdlem Lpliy sTent @SHrb

A 2z (B) Lbh

© & - (D) Lb(hl+h2)

50.  Easy system to find out field area during Land Survey System
(A) Plan table system (B) Simple triangle
(C) Kasara system wA(D) Diagonal and offset system
Hleo @yemeneu wpepmsafld Yaomsalla uplimu aallfléd efluins safub e
(A)  GCaranGLd apep (B)  ensmyas paGamar apan
(©)  seprpep D)  epaweai L ps&Carent @penn

51.. Explain about the latest survey instrument in finding out of a missing point with the help of
known point in land

(A)  Theodolite _ (B) RTX

(C) GPS wAD) Total Station

yaghed srapdlarm em Hlaoowsdadmbg (Known point) srew wpigwirs (Unknown point) Luluded
wepmbglaTer Flenewigms sarflw LwaTuRSg b pelar Agmildnu flo siaraeus smel

A) HCuremaL B) RTX

(€C) GPS (D) G avGLeager

52. Which year survey of India was started of

(A) 1852 AD year (B) 1923 AD year

(C) 1898 AD year wAD) 1767 AD year

#7166y U @S s 4 emm([H < T ssiulLg)?

(A)  &.9.1852-1b =yam( (B)  #.9. 19230 e

©)  8.9.1898-i e D) £.9.1767—1b e
084/DM/19 | 14
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53.  Adjustment and correction of Theodlolite machine classified and called as followest
. (A)  Three types (B) One type
(C) Two types (D) Four type
HCwr_enerl_ smaflanw m‘ﬁ@&uﬁg,eb Spssam_eurm s u@SsUIuBSng?
(A)  apem euens B) o uws
(©C) @yew(h cuens D)  previE cuens
54. Explain about the creation of register of land survey and maintenance of reéister during
initial stage of 19t century
(A)  Adangal (B) Land Register
ﬂ(C) Bi-mash regigter | (D) Chitta
19-pib propremgen wpuGHUa fleogdear serey LHHIL LFeysar LYTLALLEES 2 (haurssiuLL
U Gau® ' ;
A) SLmsd B)  Hlel udGau
(C)  eu-wmay UFGauE D) fAlorw
55.  One veli land is
v\ (4) 5 Kani : (B) 10 Acres
~ (© 10Ma (D) 100 Cents
e Geuadl Hlavib eremig
A) 5 5n@ﬂ - B) 10gsasT
(C) 10uwr (D) 100 Q&en_
56.  One Ground land is
Vi) 2400 Sq.Feets (B) 5000 Sq.Feets
(C) 1200 Sq.Feets (D) 0.4500 Sq.Feets
@ Syayeir Floob erenLig
(A) 2400 #.oy4 (B) 5000 &.=y4
(C) 1200 .19 (D) 0.4500 #2119
15 084/DM/19
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57.  Area of one Sq.Feet is equal to Sq.metric system.

M) 00929 Sq.m. B) 0.9500 Sq.m | ®
(Cy 1000 Sq.mtr. (D) 0.4500 Sq.m.
1 sgiT =g ugliy ererugy) Gl flé (pepmulled
(A) 0.0929 5.6 (B) 0.9500 5.8
(C) 1000 &.8 (D) 0.4500 5.5
b8. Explain the space provided sign in field measurement sketch by surveyor of the preparing
the field sketch

(A)  Left side
(B)  Middle place below the field measurement book
(C)  Right side place the field measurement book
V"D) Right side corner phase below the field measurement book
Ble areurmed swmflésstiu@ind Yotiulfsaiquid amsGuriub ufle) Geww Geurigw GUib
A @rgupb
(B)  yeuuLFseguliar Epuymb widudlé
©)  yedugos ely g
D) yeluLé sanquiéd SPULDD uag LES wpeeaude

59.  The find out third angle with the help g two angles, one side measurement the solution is

%)  Solution-I (B) Solution-II
(C)  Solution-IIT (D) Solution-IV
W&Caragdld Qram® Camamiis@pb @ LUssph ClamHés i i (hhsre ——— Siey.
(A Sieyl B) &ireyII '
©  SieyIII @ Sy IV

60. How many degrees allowed to the different Azimuth Parallax?
@ r ® 7T

VQ(C) 5° (D) 6

SjedlngHled Parallax aranugle) ersgenen GCamamiis@ns e elsHunsd QerREsIUL Iy HEED?

A 1 ®) T
© 5 D) 6
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61.

62.

63..

64.

Azimuth is taken in village junction available in field.

A) 3 | ®B) 2

Cc 4 o | D) 1

el ————— Agrorisd sEHeEn GLidd aastLEADS.
A 3 B) 2

<€ 4 ' @ 1

If Azimuth is taken afternoon add hours.

A 5 | B) 10

© T VAD) 12

@iedlog AHuse Crrsad o @b mbsTd —— waflaw gl L Calam@Lb.
A 5 - .(B) 10

© 7 D) 12

The Survey Instrument Pentagraph machine is classified as

(A) Three (B) Four

(©  Six WAD) Two

Hle sjerenens smelwirer Gluesr_mdlymy (Pentagraph) eremp o Ligysflen cuengser

&) apery B) preng

© <o D) Gaw® ‘

Type of Measurement is

A)  Two vA(B) Three
(C) Five (D) Eight
2jemeysafle uan&EEET GrebTLig)

Q)  @ran® B)  opeany
©) gbg (D) el

17 ' 084/DM/19
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65.  Value of C in BCA angles at the (cotangent) ratio

(A)  Hypotinuse (B) Offset
Offset Hypotinuse .
V\(C) Base (D) Hypotinuse
Hypotinuse Base
BCA eremp Canamrgdlanent_w SilCaran aldlssdea (Cotangent) C—ullen i ereniigy
(A) STeRTiD (B) GSGIWITID
W STemTLD
©) egliusgsb (D) &iTemrid
&ITEmTLD ' Slg LILISSEID

66. The Value of C sicant in BCA angle at the ratio of triangle is

W (A)  Hypotinuse (B) Offset
Base Base
(C)  Officeset (D) Base
Hypotinuse . Hypotinuse

BCA erarp Caremgdapenw HfiCsmanm efdlgsdle (Trigonametrical Ratio) #Qsen: (Sicant)
C—ullém gy eremug,

(A) STERTLD B) GSSWITLD
Bllg LILISSLD g LLIESHLD
C)  @EsSsmwnID D) Sgiussd
HITEO0TLD &TEmTLD
67. Representative fraction is in the scale of 1 mm = 1000 mm of a field sketch.
(A) 1/100 (B) 1000/1
(C) 11, wiD) 1/1000
@ aueruL gl jeray 1 18.15 :1000 B8 eramudlen gl Hsgien Genard eraruig
(A)  1/100 (B) 1000/1
© 1 (D) 1/1000
68.  The case Registered as TK account no 6 register are
(A) Land Assignment case (B) Change of Register case
J‘C) Transfer Register case (D) Change of Classification case
aulL_&aemré @ eratr 6-1b LHCeau gd LiFla) GEluL@LD @ eammiser
A) fe guueL @emsedr (B) 2 Menw wrHobd Qeliub G ser
(©C) udley wrpp @erhiser (D)  euensun® wrHDH Geirbiser
084/DM/19 18
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69. The case Registered in TK account No. 7 Register are

(A) Land Assignment involving Sub-division case

o (B)

& ¥C) Change of classification involving Sub-divisions

Transfer Register involving Sub-division case

(D) Land Assignemnt change of classification not involving sub-division
L& sandg eranr 7 —b uHCaulige ufey QawliuBHb @) amiser

A)  He glue_ o 1 19fley Garmiser

B) udewrpmid 2 Gfley Germigser

(C)  aensur® wrpp 2 19Mey Gerkiser

D)  Fle gl auemstiur® wrHob 2 19fe| Gedoars B)ermhiser

70.  Total Angle during two parallel line cutting across a page is
@ 90" v AB) 180°
(©C) 270° (D) 360°
B QeemCar(heamer @ GOIGE el Ceul (G Curg GmiseE Ceuliyular @y usssdla
Sienwhs 2 I Caranthiserten e (hge
A  90° . - (B) 180°
© 270 (D) 360°

71. In which angle results equal in diagonals of rhombus each other is

A 30° _ (B) 45°
(C) 60° : wAiD) 90°
Fmi ég,]rjgﬁa'ﬂ epeneaiil L ise gpanenmGlwimenn erhg GCaranrsslad @)m Fndsadl(Hid
A 30° B) 45°
(© 60° (D) 90°
72, Meridian in traverse form is called as
w%A)  North-South . (B) East-West
(C) North-East (D) South-West
g FTEUTGEV Lilgeudled Gmerq.u_:sh GTEITLIg)
Q)  aLsg-05pE @)  dpse - Cwpe
€) - adég-fpse D) GzpE - CwpE
19 | 084/DM/19
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73. Total column provided in Traverse form is

(A 28 wAB) 18
(C) 20 Dy 15
g PTEUTED Lilg augdled Glomés semiser
A) 28 B) 18
© 20 | D) 15
74. Vernier Scale is partitioned in partitions.
(A) 3 partition &AB) 2 partition
(C)  One partition (D) b partition
Qeureiwim evCas) —— Afleyserns Wflas0UL g H&ELD.
A)  aperm Gy sar B)  @rewr® GfNeyser
© oo 9 D) gig 9fasdr

75.  The trijunction of a field linked line as

vY(d)  Gline . (B) Fline
(C) Rlne (D) Traverse line
@ Lgdler L apdepdlamer Beanema@d Cam(h
(A)  Gline (B) Fline
(C) Rline (D) Traverse line

76. Twenty Hectare of poramboke tank land is called as

- &)  Minor circuit field (B) Major circuit field
(C) Village map (D) Field Sketch
@5 20 QansGLT Gemd UnbGLTE®E Hlogms enaidsed
A) dmisHmijed - B)  Qu@pEssHmILED
C) dygroducib D) yeouib

77.  30° fulfilled angle is

@ 90 : VviB) 60°

(© 30° ; (D) 100°

30° —air flyliy Camenrid

A4 90 B) 60°

€ 30 (D) 100°
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78.

79.

80.

81.

The difference between total area of fields and total traverse area may be in

percentage.
"(A) 1% (B) 5%
©. 1% D) 4%
BT Sereeuuile) @ Gemmdder LerLgindh@ib g rmeuian LFlidpEh —————— sgeildlgsbd uriy
elGEWrED auramD.
A) 1% (B) 5%
©. 7% D) 4%
Top area in Top of Village map is shown as
VQA) Field area-Traverse area (B) Traverse area
(C) Field area (D) Sub-division area
Ao aueruLSHar saneUldle) ———————— UTILSET B(HEGLD.
(A yeotiunliy g presien uFliLy ' (B) gpmeurtav LFLIL
(C)  yesder Lyl D) 2L Gfeller Ly
Computing Scale provided with major partition with small
partition.
wia)  5-50 (B) 10-100
(C) 10-50 (D) 5-100
sl g e ————— Quepd daesamsed ———— A Qereyserraayld
Gf&su g (HEGID.
(A) 5-50 (B) 10-100
(C) 10-50 (D) 5-100
The offset measurement taken from ‘G’ line in left and right side bends and details are called

as
(A)  Field line measurement (B) Subdivision line measurement

(C)  Chain distance measurement v“(D) Offset

ol — maaflelmba) cuas) b G & Lmapdrer euamane Jjweg ellerédlsErseE arHEsULHD Sfatey
(A) ye ererane jemey B) =2 19fMley erévenay jerey

(©)  srdlel gy <teray D) . @dserey

21 084/DM/19
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82. Responsible person during chain survey work in measurement is called as
(A) VAO
(B)  Village menials
VA(C) Follower
(DI) Leader of Chain line work

srflell flev erencuuilen Cug) oeresar @hés eleurmsense Qurmuureiurs smsULGeuT
A)  fomo Hireurs @euer

(B) eﬁlj_rrua UesflwimenmT

(©) esndauler Ger Qeaueur

(D)  srdaluded (e @) péa Qedueu (Leader)

83. The diameter in rounding of Global is called in diameter of
(A) Right angle axe distance (B) Axe distance

" \(C)  Global axe distance . (D) Distance

il ey el misemer &Ml - Harapd  sHMEDCsr  SicuallLisamer

GhssLHdame.
Q)  QerCanemr =& siymiseT (B)  =&& gnytisar
©)  guler sis grymiser (D)  snghuser

84.  The district tourism map has to be prepared once in a period of years.
A 3 B) 4

vA©) 5 D) 10

LDIGUL_L &DHIET U TUL LD ———————— R (HHEHSE @(H (penD euemywiiuL. Geusir(Hib.
A 3 B) 4
© 5 (D) 10°
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85, -

86.

87.

88.

The sub process for which plotting fields in village map is called as
® (A) SP-26 wvAiB) SP-42
- (C) SP-50 ' (D) SP-40
Symwo uLgHe yeomsaner L1 Cur 2 U fley
(A) SP-26 (B) SP-42
(C) SP-50 : (D) SP-40
The total angles of traverse circuit has to be adjusted in formula of
(A)  Total Station-2 W(B) 2N-4x90°
(C) Total sides (D) 2N-4x360°
g e Tedled ep(p FTdbULL g6 sl (HSEsTans GSsT5Sen Asmanass sfluriss Ceuam(Hib
(A) Qurss Hlenewwib-2 (B) 2N-4x90°
(©) Qurésussb ' (D) 2N-4x360°
The instrument used for angle plotting is called as
v (A) Protractor ' (B) Scriper
(C)  Vernier Scale _ (D) Scale
Camenr auenruLtb euenyw (angle plotting) LwerLMSgID H(med
@AY Ganesrinie By ndlenatin
(C) Geumeflwi esvCaev (D) vCaa
Calculation of Traverse distance is called as
v‘(A) .Bearing x distance (B) Angle x distance

(9 Distanqe D)
G JTEUITE SITLD a;aﬁvréé@@sug GTETLIg)

(A)  Gufiis X gyid (B)
© gmo | o

23

South

Gamamrid X gyid

Gsn®
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89. The measurement commencing from one point to another point in field angle system 1is

called
%A  Traverse (B) Distance ®
(C) Chain distance | (D) Azimuth

ydlullerr Guopurinda e ydaraluledlmba Csm_fid woHGnmm yedrafl euflurs ojers@n Curg

@e LU Carammbiser SersE@ELD pem

A)  wgrmeuiey (B) g
C) esmde serenan (D)  =edlng

90. Survey of Revenue fields during Traverse survey, the distance of ‘F’ line is called as major
circuit splitted into sub-circuit 1s called as

() Khandam (B) TField
. (C) Town (D) Street Field

igyreuien Lenfludled Gyelleny, &TCauuiled gnib erevenaenis GlLI(HERHDHM CTTMID DiSenett FLIGTHLL L TaH
Wiflueng ——————— erar sapLBdng).
(A)  sewrLib (B) yeod
©  pspbd (D) QgmLed

91. Upper line is called as

VWA  Right angle (B) Inclination line
(C)  Straight line (D) Outline
CuoeaGrradw Hlaeuild o drer GamH —————— arani{ib.

(A)  QerigsgsGarhH (B) emieysCasr(®
©) GCurGsr(® (D) Qeuaflg&Gasm(H

92.  The distance between the center point of the circle and circle line is called as
w3 (A) Radius (B) Diameter
(C)  Circumferential - (D) Straight angle

6(H Laratlen entowinmss QEmet(h 2isena SHHIQID G LD eUEIHS DiHe enowiliLeTaflel]mbs)

GULL GTEIEHE GUEDTT 2 6T G[[fLd ———————— eran 1L (RID.

A) <o (B) &AL

(C)  ufd ; D) CrrGsrammbd
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93.  The distance between one point of circle line and straight opposite point of the circle 1s

called as
@ (A) Radius (B) Circumference
v,\(C) * Diameter (D) Circle line measurement
onm alLgdo o yaalldmbg Crr afGr e drear wnGprm yerallde @ Cuw CriGsm s
UGTHSTE DiFenar —— eTar Aaradl L. :
(4 =pd B) uid
© &ML (D) spmerey

94, The ratio of one triangle and opposite side meet (f) hypotenuse in right angle is

wA@A)  Cosine (B) Sin
(C) Tangent . (D) Cosec
em QetCsaran psCatansfe e sGoransder adiumsssSnDEID s siamsdlhsn 2 e
el flgid
(A) Garengen _ (B) engen
(C)  Lmemggesr ' D) Carfaer()

95.  The figure having four sides with four angles is called as
wiA) Quadrilateral (B) Straight tri-angle
(C) Line (D) Rectangle

BTG LiGsnsemanb Brerg Corammsmemnyb derarLg|
(A)  prosrbd _ (B) CrprCarenmr p&Gamam id
C) Cerm D) Qseuaisid

- 96. One acre is_
(A) 10 cent (B) 1000 cent
+4(C) 100 cent (D) 50 cent

(T JESIT TG
(A) 10 Gsem_ (B) 1000 G&eom_
(C) 100 Qe (D) 50 Qgem_

25 084/DM/19
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97. One Heecter is
(A)  2.47 ares wYB) 2.47 acre .
(C)  2.90 ares (D) 2.57 acre

@ QansGL T eramug)

(A 2.47 gfen B) 2.47 gésir
(C) 2.90 grrev D) 2.57 g&si
98. 100 Hectare is Sqg.meter.
(A) 2 sq.meter VAB) 1sqkm.
(C) 0.5sq.km (D) 20 sq.km
100 Qan&GLit erei ig) ——————— agy7 & Geor LT,
Q)  2egr HCem B (B) 1&gy fCeom B
(C) 0.5 &gy HCer B (D) 20 sg;y ACaom B

99.  If four sides angles are right-angle called as
»%A) Rectangle (B) Diameter
(C)  Circle (D) Straight line

Bre@ L&shsafler Caremmhis@nnd Qe CGaranons @)mbsre 8

(A) Qseueusbd B)  eperevaiiiib
C) a'Lid D) CorGsr®

100. Field in which the detail measure with 10 meter width and 200 meter length is called as

(A)  Simple field (or) ordinary field (B) Minor circuit

(C)  Major circuit field - v{(D) Long-narrow field

10 Blii siseepd, 200 BLLr Serapb Qarer eflarédsdr @wbgeTer Lo Epaam_eaurm
SP&EsLILUHEDS

(A)  ssmpes Led ) B)  Apepm Leod

©) QuEeEshnLeid (D) Berr Gméu yeotd
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